

3

$$AK = 130.000 - 15.000 + 3000 = 120.000$$

$$AB = \frac{120.000 + (5000 - 1000)}{10} = 12.000$$

← Dprf nach sr. recur vereinfacht
ausgerechnet
werden, da < 10%

$$\approx \underline{\underline{12.000 \text{ €}}}$$

$$1) \quad AB_1 = AB_2 = \dots = AB_{10} = 12000$$

2)

	AB		ZS	ZSW
	PLANM.	RUSSERPLANM.		
1	12000			
2	12000	16000		8000 = 10000 - 2 · 10000
3	10000	/		7000
⋮	10000	/		⋮
⋮	⋮	/		⋮
10	10.000	/		0

✓

3 |

	Plan- preis	Ausschlag- plan	ZS
1	12000		
2	12000	16000	
3	8000		
4	8000		
5	12500		
	:		
10	12500		
			15000 ($\sum 253 \bar{v}^1$ NGK)
			75000
			:
			62500
			:
			9